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4.

10.

INSTRUCTIONS

. Answer all questions.

Al questions carry cgual marks.

Only one answer is to be given for cach question,

If more than cne answers are marked, it would

be treated as wrong answer

Each question has four allernative responscs

marked serially as 1, 2, 3, 4. You have to darken

the correct answer.

There will be no negative marking for wrong

answer. B

The candidate should ensure that Roll Number,

Subject Code and Scries Code on the Question

Paper Booklel and Answer Sheet must be same

aftes apening the envefopes. In case they arc

different, a candidate must obtain another

Queslion Paper of the same scrics. Candidate

himself shali be responsible for ensuring this.

Mobile Phone or any other electronic gadget in

the examination hall is strctly prohibited. A

candidate found with any of such objectionable

material with him/her will be strictly dealt as per
rules.

The candidate will be allowed to carry the carbon

prnl-cut of OMR Responst Sheel with them on

conclusion of the examination,

If there is any sort of ambignity/mistake either

of printing or factual nature then out of Hindi

amd English Version of the question, the English

Version-will be treated as standard.

Warning : 1f a candidate is found copying or if
any unauthorised material is found in
his‘her possession, FLR. would be
lodged against him/her in the Police
Station and hefshe would lible to be
proseculed under Section 3 of the
R.BE. (Prevention of Untaivmcans)
Act, 1992, Commission may also
debar him/her permanently from all
[uture  examinations ol  the
Commission.
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all Wil % 3 wae ¥ o
T A9 W A OF & Sat AR
% § aiftrs Toe 3 o a9 F vaT % sue 3 T
TE S |
¥ s & A s s R €, R e
1, 2, 3, 4 sift Rew ¥ enadlf v = 3@
e BY B HL | B
T SNl o WG HITRE ofh ST fRdn s |
w- 11 faa o T oo ¥ faers & @i gien
o qlendf 7% ghfvaa @t < e oud omie
AU kel U S USe 9 @A w9 4 fawe
Fe g vy g 2 Wl aifea ¥ 1 3w o
fyera gt 4 et | vy B Erlier awn gEa
73 T PG T T & | OET A S q
frtRrly ol Fr el 0
Herda B s Toadices o9 &1 olen g F
va golgm afia ¥ ofs fel eraddt ¥ wra A
e afta qenlt Prad ¥ ot s Rreg omim gTU
Frgmran Al 1 @ '
Frereii o BT AT U W WorA B Wi s
W o RS ¥

10, 3R Bl xe ¥ fRl R A RE gEO W aEeTE

W N R D A wea F R aw 8w ¥ A
FRN TR A T |

I ;R B ovadll e HTA ST W & A

T U ¥ F1 sritga g urd o ¥, o
g oradf & Freg g § mufel = wud
arrf sl o, . 4. (R Tt B tem)
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In which decade ‘the decadal growth in the population of Rajasthan was
highest 7

(1) 1951-61 (2) 1971-8

(3) 198191 (4) 1991-2001
wﬁﬁmmmaﬁﬂqﬁgﬂ%&awﬁmﬁmﬁw
(1) 1951-61 (2) 1971-81

(3) 198191 (@) 1991-2001

Which district of Rajasthan has the maximum population of tribals 7

(1) Bikaner (2) Dungarpur

(3) Jaipur (4) Sikar ¥
aﬁﬁﬁﬁaﬁﬂ’faﬁmﬂww%%ﬂﬁﬂﬁﬁaﬁiﬁ%!
(1) @) TRE

@)y AR - () d

So far as population Rank is concerned UP is on the first rank in India,
can you tell the rank of Rajasthan ?

€))] Second 2) Fourth

(3) Sixth (4) Eighth

S @ g § wﬁaﬁwuﬁmumwm%,wmﬁmm
$ f5 o Sy W AT £1

Q) & @) e

3y Bl )] CIGEN

According to Malthus the population increases while the food
supply

H) Fractionally; progressively

(2) Airthmetically; Exponentially
(3) Geometrically; Airthmetically
(4) In stages , based on percentage

r{rm%sa@aﬂaﬂm_____aaﬁﬁﬁmem@______

22/ POPUSTD2 AL 2 D (o



5 The nation with a "one family and one child" is :

(1) Japan (2) China
(3) Indonesia (4) South Africa
‘U WA - um ew awnm dw ¥ ;o
(1) s 2y ==
(3) F=MhmE @) =Rl sifesr

6 The number of live birth per 1,000 people in population. in a year is
known as
(1} Fecurdity _ 22
(2) Fertility 22
(3) The basic damographic Equation 9.

(4) The crude birth rate
w3 ufe T e T M ST w B g @ o oy : 22

(1) < 22
(2) ST ' 29
(3) S SEHiGE g 29

(4) SrME S_REY

7 In demographic transition theory a reduction in the birth rate combined PP
in the reduction in the death rate is characteristic of the stage called :

(1) Advance Industrialization and urbanization stage 22
(2) Pre-industrial stage 29
(3) Early-industrial stage

) y g _ 22

(4) Post-industrial stage

S vl R % orala SRY A A gerex A afie ¥ ww 22

greren @ fadwar ® @ e ¥ 2 22

(1) Sowmy ofeifie Tam sl s : 29

(2) ud ofenfes ogwn

(3) urthws ofmife erawn 22

(4) uyaw el arEen ' 22
| | 22

8 The nation whose government is promoting larger families because of an
aging population and low fertility rate 22
(1) China (2) India 22
(3) United States (4) France
W Y B GWR W TE TS UG T ST I B T BT <@
? Ts ¥
(1) == (2) 9«
() s v (4) wig
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11

12

The area of sociology that covers size, composition and distribution of
population is called :

(1) _Geography 2) Anthropology
3) Environmental Studies (4) Demography

wanﬁmas%aﬁﬁmw?m W,'&i’(ﬂﬂaﬁ'{ﬁlﬂ'{maﬁﬁﬂm-

_W.%aﬁaﬁsﬁm%?

OB @) AHaE

(3) varERe e (4) ST

The life expentency of Indian Population is

(1) 60-70 ) 80-90

3) 90-100 (4) 100 and above s
i e @ e e ¥ |

(1) 60-70 (2) 8090

(3) 90-100 (4) 100 AT TN

The long term objective of the National Policy of population is to achieve
stabilized population by the year '

(1) 2025 @) 2031

(3) 2035 (4) 2045
v@amé@ﬁ%mmﬁﬁﬁa%wﬁwaé-wmmm
HC i

(1) 2025 (2) 2031

(3) 2035 (4) 2045

Which one of the combination of data are taken into account for drawing
population projection ? '
(1) Trend of festility — trend of mortality + in migration

(2) Trend of fertility -+ in migration '

(3) Trend of fertility — trend of mortality

.(4) Trend of fertility — trend of mortality and out migration

WEW%WWﬁ%QﬁWWWWﬁW
S T 7 '

(1) SR wgRa — T g b S

(2) T W+ S

3y wee wgRi - R T

ey Wuqﬁﬁwiuq%qaw
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13 What was the percentage increase in the population in Rajasthan between

2001-2011 ?
(1) 3297 (2) 2841
3) 21.44 @) 2620 _
TRE # 2001-2011 &% SR e § g g fatl wfrera g€ 2
(1) 3297 (2) 2841
(3) 21.44 (4) 2620 29
, 22
14 Wh:{) helped in the functioning of "Integrated” population and Development o
Project ?
(1) UNDP () UNICEF 22
(3) UNFPA (4) UNESCO 22
g e g R o Rred) e @ e o gty 22
(1) UNDP (2) UNICEF ;ﬁ'
(3) UNFPA ~ {4) UNESCO 29
o . . : . 22
15 Districts which have minimum and maximum sex ratio according to 2011 29
census report are : '
(1) Dungarpur-Jaisalmer (2) Rajsamand-Dausa 22
(3) Udaipur—Jodhpur | 4) Dhau]pur~Dungarpu_r 22
a&zollﬁwmww@wm%q@maﬁﬁﬁ%t 22
(1) IR - FEHER (2) IeEEFR - g 22
(3) SR - WugR @) WER ~ YRR 22
22
16 According to 2011 census the percentage population of male is : 22
(1) 50.56% (2) 51.60% 22
(3) 51.91% (4)  53.06% 22
T 2011 B TEOE B HIER TTAE F yE e B e
(1) 50.56% (2)  51.60%
3) 5191% _ (4) 53.06%
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The use of contraceptive are useful for birth control. This statement is :

(1) Non ethical (2) Ethical
(3) Undecided (4) Bogus
e Brieel & wudrT S frem & ¥
(1) iE (2) "W
(3) bR @) =

Does Human Behaviour is a part of Population studies ?

(0 Undecided 2) Mo

(3) Yes (4) Cannot say
WW—WWHWWW%? ?
OREGRER ) T

() @) F® & THd

To measure quantum of knowledge for population s :

(1) By Reliability Test (2) By Validity Test

(3) By Knowledge Test (4) Intelligence Test

mﬂﬂw%ﬁﬁﬁwwwmwm%
Q) Fayegia g BRI @) dua wlET &

@) e adeer B @) g Tl B

To develop psychometric test for phopulation studies, it needs

1) Standardized Test (2) Common Test

(3) Alpha Test (4) Beta Test
mﬂ'@mxw%%{&nﬁ‘lﬁmqﬁmﬁﬁ%mﬁ%%ﬁ TE9TE ¥
(1) wEiE T _ (2) e hEn :

(3) TH gl @) e ahEn

Name the district which shows the highest decadal growth in sex ratio
as per census report of 2011. -

(1) Jaisalmer (2) Dungarpur

(3) Udaipur (4) Kota _
wﬁ%mwaaéﬁ%ﬂa%ﬁwﬁﬁzouahwm%s ST wAT®
g ghe T

(1) R @ g

(3) wILR (@) W

22/ POPUSTD2_A] 6 H“““\m “mm [Contd...



22 After Andhra Pradesh which is the second state to announce his own
population policy ?
(1) Pumjab (2) Rajasthan
(3) Kerala (4) Bihar
m%ﬁ&mmﬁaﬁm&x%mmmﬁﬂaw
o ¥

(1) uu= (2) TR
(3) T 4) TR
23 In India what is the percentage population of Rajasthan ?
(1) 4.5% () 567 %
(3) 6.5% 4 10.4% _
TSR W STE@T WIRd ® o & wiierd o
(1) 4.5% (2) 567 %
(3) 6.5% @  10.4%
24  What is the percentage of female literacy rate in Rajasthan ?
(1) 56.64 (2) 57.24
(3) 38.56 (@) 5266
T B Al ware feay sfige &2
(1) 56.64 (2) 57.24
(3) 3856 (4 5266
25 In Rajasthan, give the number of district having more than 70%
literacy rate
1 9 (2) 6
G) 7 @ s _
TRAA & 70% ¥ offtes wiear o el @ e
(1. 9 ) 6
3 7 . 4 s
26 The legitimate age of marriage in India for girls and boys is :
(1) 24 : 12 (2) 18 : 21
(3) 1416 4) 19:20
Wﬁﬁ%ﬁﬁ?ﬁsﬁﬁh%&ﬁﬂ%aﬂﬁw%{
(1 24 : 12 (2) 18:21
(3) 14 : 16 (4) 19:20
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28

Is population growth an obstacle 10 economic growth 9 Who gave the
statement ?

(1) Malthus — Eve (2) Coale —~ Hoover

3) Marshal — Law (4) France - Nive
waqﬂ@?q@mﬁﬁﬁwaﬁm%%?ﬁsﬁ%wﬁm ?
Gy W - ¥ Q) ww - F

(3) e — 4 wE — Ad

The sexually transmitted diseases are related to

1) Physical health (2) Reproductive health
3 Mental health (4) None of the above
dr e A ¥

1) sl wRAE (2) Vo RS

(3) W R ' (4)aqﬁaaﬁﬁa?s§aﬁ

Assertion (A): As per 2011 census the infant mortality rate in India
is 76 per 1000 live births.

Reason (R) @ In India the delivery of mother-child health service needs
improvement.

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

@ Both (A) and (R) are true but (R) 18 not correct explanation of (A)

(3) (A) is true but (R) is false:
@) ) is false but (R) is true

HUT (A) : 2011ﬁw%agmtmﬁmmﬂuﬁnooo
i e 76 ¥
F (R) :mﬁw@ﬁxgm%mzﬁsmaﬂ%zﬁ
aregEwal §1

M (A)@(R)a‘vﬁaé’c%, 7 (R), (A)WH@W@EWT%
) (A)@(R)ﬁaﬁ%%@&)aﬁw@wﬁ%
(»@@me%

4) (A)W%ﬁﬁv‘gi,(l{jﬂ'gf%
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30 Assertion (A) 3
the year of 'Great Divide'.
Reason (R)

In the history of population growth, year 1921 is called

It is the year when the country suffered from influenza

epidemic which was virulent in many state and famine

was also

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not correbt explanation of (A) 29

(3) (A) is true and (R) is false

(4) (A) is false and (R) is true

22
22

FIT (A) mﬁwg&;%qﬁmﬁmw&q&ﬁaﬁlgzl Yz RaEs’ 322
HE T %) 29
®R (R)

W a9 9 TR A ¥ o w s e e 22

ﬁ@Wﬁmﬂﬁ%&Twaﬁ_@ﬁﬁuﬁﬁzz

o
(1) (A) @i R) 9 I £, T (R), (A) &t 98 WoHeor &

@ AT ® W T E g ® T w3
@) @ w& g ®) W ¥

(4) (A) Tma g g (R) w8 %

Which one out of these disease is not of communicable nature ?

(l) Malaria (2) Tuberculosis

(3) Leprosy (4) Myocardial Infection

Frea & 9w 7 dwnw e @ ol ¥

1) e (2) aul®m

(3) =@ (4) "RIEIST HHv
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33

34

22 / POPUSTD2_A] 10

Which one is not a correct statement 7

(1) 40 percent children suffer with malnutrition

(2) All the villages in India are covered under ‘Health for All' scheme
(3) Doctor population ratio is poor in India :
(4) All the citizen in the couniry are not covered under pre medicine

(3) Wﬁ%ﬁf@iqﬁaﬂ@n%ﬁ—aﬂwaﬁaﬁﬂ%
(4)%%@%@%%@@@&@%3&@%%

= A
The data required for the study of population are obtained mainty through
the source(s)
4] Poulation censuses, Registration of vital events and sample surveys
(2) Population censuses only
(3) Registration of vital events only
(4) None of the above

Wﬂ%%%ﬁﬁﬁmﬁmmm%,%ﬂm%g@w

%ﬁﬁ@ﬁ[@ﬁmwéaﬁ%l

(1) mwﬁwm@wm%maﬁmeﬁaﬁﬁﬁ?mam
Tl waH E-

) ¥aa wEEEN SR &

(3) amawmwﬁmﬁmeﬁm

@ arda ¥ & @

The measurement of Human Development 18 focussed on which of the

following elements of human life ? '

(1) Longivity, knowledge and standard of living

(2) Longivity and knowledge

(3) Knowledge and standard of living

(4) Longivity, knowledge about contraception and nutritionat level of
population ‘

wﬁwmﬁﬂﬁ%%ﬁmﬁ%mmwmwm

Faa 37 '

(1) ong-Red, FE T SRS

() oy Qedar g wH

(3) oW ud wEd WY

(4) ag-SrE, amﬁﬁﬁaﬁmﬁ@aﬁ@ﬂ?ﬁwm
we ¥ frww ® w9

Y (Contd--




35 Medical Termination of Pregnancy (MTP) Act came into force in India

in the year
(1) 1977
(3) 1974

(2) 1976
@ 1972

mﬁ“ﬁ%mﬁmaﬁmﬁ%ﬁ”mﬁﬁmﬁma&ﬁuﬁag&?

(1) 1977
() 1974

36  Match the following -

List T

(@) Social capillary theory
(b) Model life table
(c) Wealth Flow theory

{d) Intt_ermediate variables framework

Codes :

@ ® (©
() @) Gii) Gv)
(2) (i) vy (i)
(3) @) () (@
@ O 3d) @i
frer @& fedd
_ o 1

(a) e Semsiiear
(b) omest Sew afesnd
() wufa wae fagrg

(d) wemE ol @
EL?Z :

(@) () (¢)
() @) (i) Gv)
) (i) (v) (i)
BG) i) ) @)
@ B G dib)

22/ POPUSTD2_A]

el

(d)
M
(i)
(i)
(iv)

11

) 1976 '
4) 1972

List I;E |

(i) Davis and Blake
(i) Caldwell

(i) Dumont

(iv} Coale and Demency

1

O S T =%

() wwd |
(i) sYERE
(iv) wlew wos el

AR (Contd...
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37 The national poputation policy has cet the goal of reducing maternal

mortality ratio below

(1) 30 per 1,00,000 five births
) 60 per 1,00,000 live births
3) 100 per 1,00,000 live births
4). 200 per 1,00,000 five births

u@ﬂmﬂ@%mwwﬂﬁaﬁ@mﬂﬁ:ﬁaﬁ%ﬁmﬁﬂ

v

38 Between 1901 and 2001, indias population had increased by approximately

Q) 280% 331%
(3) 313% . (4) 401%
1901@112001%5:@1 ﬁaﬁﬁﬂﬁwﬂqﬁigﬁ%l
Q) 280% @) 331%
(3) 373% @) 401%

39  Among major Indian states, ihe sharped increase in decadal growth rate

of population during 1991-2001 15
(1) Uttar Pradesh
(3) Rajasthan

af 1991-2001 ¥ A
= fa W § N
(1) T Bl

3) T

;rg@qr(@rq

40 Which on¢ of the following 18 not
(N Postpartum Infecundability
(2} Tntrauterine death
(3) Age at marriage
4) Abstinence
qer R B

m

(2) Bihar

(4) Madhya Pradesh _

e i LR ZyE SEEE EIE:t

a Proximate Determinant of fertitity ?

‘P«iaﬁiﬂﬁﬁfﬂﬁ@fﬂwﬂﬁ%l

(N wﬁmwaﬂm?ﬁaﬁvﬂm

() o 99
) e ¥ oo A
(4) ¥
52 | POPUSTD2_A] 12
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44

The proportion of children in the age group 0-6 years as per the 2001
census of India is close to

(1) 25% 2 20%

3) 15% 4 10% |

T 2001 & WL WgE AR e W sHEEn § ok w0 @ et
A free frr wow § g o 2

(1) 25% (2) 20%
3) 15% 4) 10%
Among the states of India which state has highest inter state in-migration ?
(1) UP (2) Mabharashtra
(3) Pumab (4) W. Bengal
Frr & @ 9% @ el T ¥ osel wdE o aee 7
(1) <away () "TER
(@) W @ U Tmw
Which one of the following is not properly matched ?
Event - Year '
(1) World Env. Day Sth June
(2) World Health Day 7th  April
(3) World AIDS Day - 1st December
(4)  World Population Day 15th July
Fe & & o o w7 ¥ A & wrar 27
SIEECEY EL
(1) fasg uygfawor Rew 5 S
(2) T9g wrew g 7 St
(3) faya wew fum ' 1 Ramax
) Tasm wEen fReg 15 @

Who introduced the equation : Environmental Impact = Population x

- Affluence x Technology ( I = PAT)

(1) Paul Ehrlich (2) Leon Tabah
(3) John I Elarke (4) Nathan Keyfitz

wfamwm=mﬁ@1xuﬁmxmﬁhﬁ(izmﬂwwﬂmaﬁ
e sRrafea fen am

(1) uw aietg () fasim =

(3) W e, T (4) TUH B
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45  Assertion (A) - Family size 1S decreasing India
Reason (R} ° Large no. of females are getting émpowered in India
(1) Both (A) and (R) are true but (R} is the correct explanation of (A)

(2) Both (A) and (R) are tru€ but (R) is not the correct explanation
22 of (A)

22, @) (A) is true but ®R) is false

22 @ W i false but ®) is true

22 aﬁmﬂ(m:mﬁqﬁaﬁmmwaw%
;é & (R) :mﬁﬁ@maaﬁwmwm%_

22, M (A)@(R)aﬂ‘fa%"%,wm),mw@w@w%
90 @ (A)qé@)ﬁaﬁ%%(maﬁw@mwﬂﬁ%
22 @) (&) & g ® T ¥

22 @ (ay e ¥ g ) W E

22
22 . o .
90 46 The Medical Termnation of Pregnancy act was passed the year
22 (1) 1994 (2) 1962
22‘ (3) 1982 @ }972
22 A iR ST fpg af o TG B 7
2.2, () 1994 (2) 1962
22 (3) 1982 @) 1972
22 |
22 47 According 10 NPP 2000 stable population would be agh’leved by the year
(1) 2060 AD. . (2) 2045 AD.
@) 2020 AD. (4) 2040 AD.

Al 2000 % aﬁﬁ“ﬁﬁﬂﬁﬁéﬁsﬁéﬂﬁﬁmﬂiaﬂmﬁf
(1) 2060 g (2) 2045 EEll
(3) 2020 ERE (4) 2040 ecll

L X
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50

The growth of population after reaching replacement level is explained by
the phenomenon by

(1) Population Momentum

(2) Quasi-Stable Population

(3) Generalized Stable Population

(4) Weak ergodicity

TR & WX o% o B ) SR ¥ gel @ erer @ wuE @y
wdr &

(1) wFEEn & 22
(2) Rumg sEEm ;ﬁ
(3) weTgpd SEEE ¥
@ Bim caEdie 22
22
What was the population of Rajasthan according to 2011 census report ? 22 _
(1) 686 crore (2) 7.82 crore 22
(3} 5.32 crore {4 782 crore . 29
2011 & SO RO & SgER IeRA o F awEen ¥ 7 22
(1) 6.86 &= (2) 782 U 22
(3) 532 ®wS @) 7.82 H= 29
22

The followiné goals were set to be achieved by 2000 under health and o0
family welfare programme which one has been achieved by 2011 ?

(1) Infant mortality rate to be brought down below 30 per 1000 Jive birth 22
(2) Maternal mortality rate to be brought down below 2 per 1000 live 22

birth 29

(3) 100 per cent achievement of registration of birth, death and marriage 22
(4) Crude death rate up to 9-11 per 1000.

e iz S TRAT pe b 2000 ¥ 7 Bl q & we @ 22
B TH ST 2011 ¥ wrg fem owm & o? 22

(1) frg JgeR B 9k 1000 SR SFiEE 30 ¥ WY @R 22
(2) Wy gg aX & yhewk Sikw = | 2 ¥ SR W

() W™, gy ud faame = 100 gfayw ol we

@) P T @ @ wRkewr 9-11 @@ @
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